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Math F251: Section 3.5 Worksheet Wednesday 10 October 2018
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1. Find dy/dz by implicit differentiation.
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2. Consider the equation

VE+yy=1 )
(@) Find y' by implicit differentiation.
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(b)  Solve (x) explicitly for y and differentiate to get ¢’ in terms of x.
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(¢) Check that your solutions in (a) and (b) are consistent.
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3. (A §3.4 question.) For what values of r does the function y = ¢’ satisfy the
differential equation y” — 4y’ +y = 0?
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4. For the “cardiod” shown, with the equation and point given, find an equation
of the tangent line.

3;2+y2 o (2$2+292—$)2: (03%)
Q’X'(—Q\‘ﬂlﬁ/: QCQ\;(Z-{» 7,")?'*‘?()(‘%2(“1'4‘3‘{)/"() ¥
= 2 (25 424y (Fx-1) ( \

+gg/(2xz+2fﬁx)j/ ( {;l =
f ,_h. ’/
J @@*83 (202 29°) ) = ~2x +2(2x1+2 Z\KH,./
Y= ZEEF2Cx 29 —x Y (-1) 7T (=)

29 =8y (x4 22

, D —
m=y ((o)i) oo i€2(0+%-@(‘1)_—| \ —~d = ~D
4 (orig 51 7 u—?

5. If zy + e¥ = ¢, find the value of 3" at the point where z = 0.
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